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�f d�x� j = 1, 2, 3� ��� �f(x, y) =

�
−y
x

�
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�� K1 : �x(t) =

�
cos t
sin t

�
, t ∈ [0, 2π]�

�� K2 : �x(t) =

�
cos t
sin t

�
, t ∈ [0, π

2
] ���

�� K3 : ��� ����������� ���������� ��� ( 1
0 ) ���� ( 0

1 )�

����� ��� ���� ������� ��� �������� ��� ��� �������� ��� ���������������� ���
��� �f ������������ ���� ���� �� ��� F : R2 → R ��� �f = ∇F� ��������� ��� ���� ��������
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��� ���������� ������� ��� ���������� f ��� q ��� ������� �� ��� ��� ��������� ���
���� ������� ���������� ����������� ��� ����� ��� ��� �������������� f ��(�x) ��� q��(�x) ���
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�� ��������� ��� ��� ����������� ��� f(x, y) =
e−x2

1− y2
�� (0, 0)�

�� ��������� ��� ��� ������������������� �� �������� ��� �������������� ��� �������

������� ����� ��� f(x, y, z) = sin(xz)− cos(y) + xy(z − 1)20 ��� g(x, y) =
ey − x

1 + x2
�

�� ��������� ��� ��� ����������� �� ��� ����� (0,−1, 1) ���

f(x, y, z) = z3 − 3z2 + x2 + 4yx+ 2y + z + 20 .
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f(x, y) = (x− y)4 − 7(x2 + y2) + 18xy ��� g(x, y) = y2 − y4 + sin(x) ,

���� ���� ������ ��� ∇f = 0 ����� ∇g = 0�� ����������� ���� �� ���� ������� ������
���� ������������ ����������
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�f d�x� j = 1, 2� ���

�f =



zexz − 2x cos(x2 + y2)

e−y2 − 2y cos(x2 + y2)
xexz


 ��� K1 : �x(t) =




cos t
sin t

cos(2t)


 , 0 ≤ t ≤ 2π ,

����� K2 : �x(t) =




cos(2πt)
sin(2πt)

log(1 + 3t)


 , 0 ≤ t ≤ 1 .
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